TBC/XBC #5ifE 4L

i

MC’

TBC/XBC #RifEEL

RINE Fpds MAKE FIE x 78

C: & 32 25
TB: EEELR P o
e A gm0 73
B AFEER ) wam 63
VLN G 80
100 g TBaTI%)
125 (TR
160

RIRE ZpBs BART HE X T8 X 782

OF 't
s ERIZ B|ohi
TAENTR 240 p MBS RN ES
TEEF(MPa) 0.1~1.0
{RIEMIESD(MPa) 1.5
TAERE(CC) -20~70(AE5K)
TEEIEE (mMm/s) 50~800 30~500
g o iELE
P TR (mm) 25 24 30 28
EER LB FA FB CA CB TC
EEOR G1/8 G1/4 G3/8 G1/2 |G3/4
TBC XBC TBCD XBCD TBCJ CBC) TBCT
e M | :QIE : viri ﬂf-qﬁ ﬁqﬁ i

I I
TBC-5 XBC-5

AT - #HANE

10
20
30
40
50
75
100

FTH: AL

S: Pt

- AN

| :I E |
TBED& BCD-5

TBCJ-5 XBCJ-5 TBCT-5

- EHAMER - REREE - TERS

F=0: EMR
V: WEEME LB

=H: L% =8: 6
CA TCM
ce U
Y)

G5nviTonss  FA YO
sifF, m%HNBR ~ FB  BJ
B E IR TC FD

- EHHME - REHHE - TEREH

4
o
=)
s
1
7T
i3

C: S 32 2>
40 50
TB: EEMIE T SUER 5 75
63
100

25
50
75

=H: A

S: PfyH

WEED TBCRISE, IE40, 171250, M#A, BHAEMRAIREN R, REMEAHCA,

HERP#3 4 : TBC40X50-S-CA

ZTH: G

S MESAE SMREME, MARIZIIFRES%: CA/CB/CR/LB/FA/FB/TC/1J/YJ/BJ/FD(TCH 412 B FTBC)

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

M

CB

LB

FA/FB




TBC/XBC #5fE &L

TR*

M12(mm) FRAEITFE(mm) & X172 (mm)
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1900
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1900

50~160 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1900

REER D

Fs | ZHa0H R
1 g TPl
2 imET SA5CHEREEE T RS
3 | BUEpLE TPU
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 4 E;l.ﬂ;%:limﬁ E%Mﬂ
5 | HIZ HE®
SESSITASSS = 6 | BrhEHE NBR
. 19 . 7 | o®ER NBR
2 - 8 115 RE
rQ - - - - e — » . 9 | oz NBR
/ : = 10 | iBZE HE®E
— - - - —— - ! 11 | EEBRHE NBR
b 12 | mAREE BT B
A-ABEAE 13 | M PTFE
14 | ®gk A
15 | fu#F Tkl
16 | fIHTE2iE Tk i)
17 | = HEE
18 | SMEHE 5 5
19 | O&ER NBR
20 | Erpige = ifd
5h 5 R <t
TBC @32-@160
A+TEE
B C+i73%
E F G G
H N 20 St A R o PR N
; /// “\-\
T - of [ N L2 0 B
i ‘—f—z = ?_'C“ ¢ £ f:;r
| > A S
K W i
4E 18
el N\ _2-iame Qe
RR/IHS A B C D E F G H | J K L
32 140 47 93 26 32 15 27.5 22 17 6 M10X1.25| M6BX1
40 142 49 93 32 34 15 27.5 24 17 7 M12X1.25 M6 X1
50 150 57 93 38 42 15 27.5 32 23 8 M16X1.5 M6X 1
63 153 57 96 38 42 15 27.5 32 23 8 M16X1.5 | M8X1.25
80 182 75 107 46 54 21 33 40 26 10 M20X1.5 | M10X1.5
100 188 75 113 46 54 21 33 40 26 10 M20X1.5 | M10X1.5
125 218 88 130 52 68 20 38 54 41 13.5 M27X2.0 | M12X1.75
160 254 113 141 62 88 25 38 72 55 18 M36X2.0 | M16X2.0
RS M N 0 P Q R S T v W
32 13 14 1/8" 3.5 7 6.5 45 33 12 10
40 13 13.5 1/4" 5 5.5 8.5 50 37 16 14
50 13 14.5 1/4" 8.5 3 11 62 47 20 17
63 13 15 3/8" 7 5 9.5 75 56 20 17
80 15.5 16.5 3/8" 7 8 10 94 70 25 22
100 15.5 16.5 1/2" 7.5 8 13 112 84 25 22
125 19 19 1/2" 15 5 15 137.5 104 32 27
160 19.5 19 3/4" 15 6 15 173.5 134 40 36




TBC/XBC #5:fE L

ShF R~ E
TBCD @32-@160
A1+iTHExX2
e B C+{7#2 B+{T#E
B T ~ E F G G E+iT12
: H — 2-0 - T
ST T 1 J ———————————
= ] by Yoo ="t A
7N N - =1
=) S NN f 3 8
‘f”{w 0 i ) & F ® - : i
‘-;__' }‘L'"'-'-': f '_'-'-':"? Y -~ .."'l I."-I. . -\.\ =
a1 .];‘E’j. :' ; 'L:t:l K, W /! '_L\ .................................... W/
E-L-i;a‘éiM} —Q— x 2- i i —lal—
RS A1 B C D E F G H I J K L
32 187 47 93 26 32 15 27.5 22 17 6 M10X1.25 M6EX1
40 191 49 93 32 34 15 27.5 24 17 7 M12X1.25 MBX1
50 207 57 93 38 42 15 27.5 32 23 8 M16X1.5 MBX1
63 210 57 96 38 42 15 27.5 32 23 8 M16X1.5 MBX1.25
80 257 75 107 46 54 21 33 40 26 10 M20X1.5 M10X1.5
100 263 75 113 46 54 21 33 40 26 10 M20X1.5 M10X1.5
125 306 88 130 52 66 20 38 54 41 13.5 M27X2.0 M12X1.75
160 367 113 141 62 88 25 38 72 55 18 M36X2.0 M16X2.0
NEEIHFS M N 0] P Q R S T Vv W
32 13 14 1/8" 3.5 7 6.5 45 33 12 10
40 13 13.5 1/4" 5 55 8.5 50 37 16 14
50 13 14.5 1/4" 8.5 3 11 62 47 20 17
63 13 15 3/8" 7 5 9.5 75 56 20 17
80 15.5 16.5 3/8" 7 8 10 94 70 25 22
100 15.5 16.5 1/2" 7.5 8 13 112 84 25 22
125 19 19 1/2" 15 5 15 137.5 104 32 27
160 19.5 19 3/4" 15 6 15 173.5 134 40 36
* ER S AMEER Z RTEE
#if: XBCEI W ERT5TBCEFIEE,
TBCJ@ 32-@160
A2+iTEEx2+ [T
B C+iT#E
E F G G F 1752
H N N
i 0 ,
an
T oD [T ]
Iﬂf If’&'"-" @ '[ 5 -|
1 w/ . | Z+WiA1THE
AT ~lale N 2-ZEEHZE  al-
AEFS A2 B C D E F G H | J K L
32 182 47 93 26 32 15 27.5 22 17 6 M10X1.25 M6 X1
40 185 49 93 32 34 15 27.5 24 17 7 M12X1.25 M6 X1
50 196 57 93 38 42 15 27.5 32 23 8 M16X1.5 M6 X1
63 199 57 96 38 42 15 27.5 32 23 8 M16X1.5 M8X1.25
80 242 75 107 46 54 21 33 40 26 10 M20X1.5 M10X1.5
100 248 75 113 46 54 21 33 40 26 10 M20X1.5 M10X1.5
125 286.5 88 130 52 68 20 38 54 41 13.5 M27X2.0 M12X1.75
160 337 113 141 62 88 25 38 72 55 18 M36X2.0 M16X2.0
AE/IHFS M N 0 P Q R L T V w Z
32 13 14 1/8" 3.5 7 6.5 45 33 12 10 21
40 13 13.5 1/4" 5 55 8.5 50 37 16 14 21
50 13 14.5 1/4" 8.5 3 11 62 47 20 17 23
63 13 15 3/8" 7 5 9.5 75 56 20 17 23
80 15.5 16.5 3/8" 7 8 10 94 70 25 22 29
100 15.5 16.5 1/2" 7.5 8 13 112 84 25 22 29
125 19 19 1/2" 15 5 15 137.5 104 32 27 35
160 19.5 19 3/4" 15 6 15 173.5 134 40 36 40




TBCT ©@32-2100

A3+fTIR1x2+1THE2
B C+iTE1x2+{7782
E F G G1 U+iT#E1 G
N N
H 3-0
i
JHm | @ e edd o
T S o 1= =
/s K/Q Q ____________ . _.____..JQ
_Evhigse - =Y T T — ==
AR Usf7121+17722

32 233 47 186 26 32 15 27.5 55 22 17 6 | M10X1.25| M6X1

40 235 49 186 32 34 15 27.5 55 24 17 7 | M12X1.25[ M6X1

50 243 57 186 38 42 15 27.5 55 32 23 8 M16X1.5 M6X1

63 249 57 192 38 42 15 27.5 55 32 23 8 M16X1.5 | M8X1.25
4 80 296 75 221 46 54 21 33 73 40 26 10 | M20X1.5 | M10X1.5
= 100 308 75 233 46 54 21 33 73 40 26 10 [ M20X1.5 | M10X1.5
Zh 32 13 14 1/8" 3.5 7 6.5 45 33 12 38 10
,13 40 13 13.5 1/4" 5 5.5 8.5 50 37 16 38 14
1T 50 13 14.5 1/4" 8.5 3 11 62 47 20 38 17
# 63 13 15 3/8" 7 5 9.5 75 56 20 41 17

80 15.5 16.5 3/8" 7 8 10 94 70 25 41 22

100 15.5 16.5 1/2" 7.5 8 13 112 84 25 47 22

Y RS AR - R~THERE
#Zi¥: XBCRIIIMERTETBCRINHEE.



